
МАТЕМАТИКА
3 класс



8 апреля.
Классная работа.



УСТНЫЙ  СЧЁТ



Какие числа пропущены?
5 ·     =  45      49 :     = 7

    · 8  = 16            : 9 = 9    

3 ·     =  27       36 :      = 4

    · 6 =  24            : 3 = 5

    · 7 =  70       21 : 3 = 
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Тема урока 
«Подбираем наибольшее 

произведение» 



  

Уч.  №1 стр. 88

БЫЛО  ДЕНЕГ КУПИЛИ НАКЛЕЕК, 
ПОТРАТИЛИ ДЕНЕГ

ОСТАЛОСЬ 
ДЕНЕГ

50 РУБ.

80  РУБ.

100  РУБ.

150 РУБ.

6 × 8 = 48 руб.

6 × 13 = 78 руб.

6 × 16 = 96 руб.

6 × 25 = 150 руб.

50 – 48 = 2 руб.

80 – 78 = 2 руб.

100 – 96 = 4 руб.

150 – 150 = 0 руб.

6 × число наклеек + остаток = сумма денег



 № 4 стр. 89 Подбери числа и 
составь 
равенства, 
соответствую
щие схеме

 84 = 9 ×    +        76 = 8 ×    +        44 = 6 ×    +                              
+

                 

84 = 9 × 9 + 3    76 = 8 × 9 + 4     44 = 6 × 7 + 2   
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ДОМАШНЕЕ ЗАДАНИЕ:

С.97 №11, С. 89 №7


